Fractions test

1) Evaluate

a) 5 of 55 =
b) = of18 =
C) 17 of 60 =
1
d) o of 45 =
1
e) 0 of 70 =
l — —_—
a) T T
2
b) 3 36
i -
c) 4 32
2 _
d) — T 63
3 -
€) 8 56

3) Reduce to lowest form

24 _
a) 40

8 _
b) 24

L5 _
c) 0

S _
d) 2

2 _
e) 3B
4) Convert to mixed
numerals

45 _
a) 7 =

37 _
b) s =

20 _
C) 5 =

58

d) e

2a no calculator

5) Convert to improper
fractions

2 —
a) 6 7
3 _
b) 4 & =
5 _
C) 2 g =
d 35 =
2 —
e) 7 3 =

6) Convert to decimals

7 —
a) 100
57
b) 100
3 _
c) 10
49
d) 1000
147
e) 1000
7) Evaluate
3 4
v Tt F
= - + -
20 20
3 4
b) 6_ + 9—
—_ [— + _
= 18 18
1 3
o T 5
= 10 10

NAME..eveeeeeeeeeeererernns
3 1
d > - _
) 8 5
= 0 40
3 2
—_ + PR
€) 10 15
= - + -
30 30
3 2
—_ + P
f) 7 4
= - + -
28 28
7 2
9) 12 ) 9
= 36 36

8) Find the larger fraction by
first converting to a common
denominator.

4 5

3 - _

4 20

4

5 20

..................... is larger

5 7
b) — o —
8 12

> _

8 24

r -

12 24



